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27. For any choices of values of X, Y and 7. the

6-digit number of the form XYZXYZ is

divisible by :

(a) 7and]11only
(b) 11and 13 only
(¢) 7and13only
fd) 7,11 and 13

28, m identical cubes are arranged in the form of
a cublcal block. How many cubes are
surrounded by other cubes from each side ?

f.a 27
R’
u@ 21
@ 18

29, M %g distinct 8-digit numbers can be
" by rearranging the digits of the

23344 such that odd digits occupy

and even digits occupy even

. | Directions for the following 3 (¢hF8
s | Read the following three passw..

items that follow the passages. Your
items should be based on the passa

Passage - 1

We often hear
different States in India over ri
20 major river systems, 1
water-stressed; 76% of the pop
water-stressed regions, a third @
water-scarce areas. Climate change
of rising population and the need
to keep pace, and increased rate o
and industrialization will exaceER&
stress. According to the Constitut ik
water is a State subject and not {Ehat
Union, except for regulation of inter-:
Key to ensuring balance between |
demands of various stakeholders is a D
approach to allocate water among st com
regions and States. Allocating fair s hare of
to them requires assessments based '__;‘j
criteria, such as specificities of the F
size of dependent population, existing
and demand, efficiency of use, projec
use, ete. while ensuring the environme
of the river and aquifers.

about

; 31. Which one of the following staten 7
‘B, C working independently can do a piece reflects the most rational, prac \_:__
- of work in 8, 16 and 12 days respectively. A immediate action required to ensuref
' alme works on Monday, B alone works on equitable allocation of water t&
Tnesday, C alone works on Wednesday; A stakeholders ? .
' alone again works on Thursday and so on. (a) A national, pragmatic, legﬂ_"‘
,ﬁ Consider the following statements : lf;amework for water allocatio
i made.
1. The work will be finished on Thursday. b)) vivetiRatedn bt LS
2. The work will be finished in 10 days. be linked and huge aqui
" Which of the above statements is/are correct ? (¢c) Water channels betwe
( ) 1 nl water surplus a‘d =:_"‘. )
a only deficit should be created. «li
‘ % cuy (d) To mitigate water crisis, w
(¢) Both1land?2 of sectors such as g |
(d) Neither 1 nor 2 industry should be !
XDTG-S-DNK (17-B)
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Passage - 2

More than half of Indian women and almost

a quarter of Indian men of working age suffer

from anaemia. According to studies, they

anywhere from 5 — 159 Jess productive than they

could be, as a result thereof. India also has the
largest tuberculosis burden in the world, costing
170 million workdays to the country annually.
But what is just as important as lost productivity
now is lost potential in the future. It is becoming
increasingly clear that on many measures of
cognitive ability, malnourished Indian children
p!lilﬂn two or three times worse than their
uﬁguabely nourished peers. For an economy that
'ﬁ be more dependent on highly skilled
m‘km this poses a significant challenge And it
uqmw that really should be addressed given
ms demographic outlook. |

h one of the following statements best
s what is implied by the passage ?

1 Education system must be strengthened

" in rural areas.

- '.,._'-'-_i:' Large scale and effective
A" implementation of skill development
A  _  programme is the need of the hour.
e
(¢ For economic development, health and
| o .?' nutrition of only skilled workers needs
bt apec:al attention.
(d) For rapid economic growth as envisaged
| by us, attention should be paid to health
and nutrition of the people.
XDTG-S-DNK

to climate change depends on

33. Which one of the foﬂd‘viting states :

(19-B)

In India, a majority
marginal and small, less e
possess low adaptive capab:
change, perhaps because GE' CT
constraints. So, one €&
autonomous adaptation to
Even if it was possible, it}
sufficient to offset losses '}
change. To deal with this, ..l
climate change is paramount,’
fast mitigation response. Anot ¢
to have a
adaptation,
government to _
recommendations. Perception lﬂ
pre-requisite  for adaptatiolg
farmers are adapting agricult '

planned or
which would
come up

perceive it or not. However, this is
enough for adaptation. It is import
farmer perceives the naks associs
climate change.

reflects the most logical and ration:
conveyed by the aM‘of the pass
(a) Adaptation '}ta ‘climate che o
mitigation response are
responsibilities of the governi
(b) Climate change causes
government policies reg
patterns in the country.
(c) Risk perceptions of
important for motivs
taking adaptation deci
(d) Since mitigation s
governments should cop
policies for quick
change. -
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,'w@mﬂsm» 5 gm, 10 gm, 25 gm, 50 gm
m Consider the following statements -

.j" To buy 78 gm of coins one must buy gg
- least 7 coins.

use less than 7 coins.

ect ?

~ lonly

- Zonly

- Both 1 and 2

¢ ‘Neither 1 nor 2

Jonsider the following :

. A+ B means A is neither smaller nor
i  equal toB.

A _ B means A is not greater than B.

. A x B means A is not smaller than B.

. A~ B means A is neither greater nor
equal to B. ;
eans A 1is neither smaller nor

To weigh 78 gm using these coins one L‘Eﬁ

Which of the statements given above is/are s,

Read the following three pas
items that follow the passages. ¥¢
items should ”bﬂ&ed on the pa

crop produchon gaps

Which one mﬂ' ‘the fo

et 61.
greater than B. ' reflects the Bt Iogidl ]
Beement : PxQ P- T, T+R, R%S _ %
Zusion-l >R
clusion-2 : S+Q . :
L one of the following is correct in respec
the above Statement and the Conclusions ?
A Only Conclusion- 1 follows from the
~ Gtatement g
Only Concluaion-2 follows from
Statement. £
Both Conclusion-l and Conclusi?
follow from the Stat,en:le:tr C"mcmmn L
Neither Concluswn- t ;
follows fro™ the Statemen ‘
(33- B) |
s
DNK
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Passage -2

A global analysis of nitrogen use efficiency —
fl measure of the amount of nitrogen a plant takes
in to grow versus what is left behind as pollution —
says that using too much fertilizers will lead to
increased pollution of waterways and the air.
Currently, the global average for nitrogen use
efficiency is approximately 0-4, meaning 40 per
cent of the total nitrogen added to cropland goes
into the harvested crop while 60 per cent is lost to
the environment, says a study. More than half of
the world’s population is nourished by food grown
with fertilizers containing synthetic nitrogen,
which is needed to produce high crop yields. Plants
take the nitrogen they need to grow, and the excess

is left in the ground, water and air. This results in
significant emissions of nitrous oxide, a potent
greenhouse and ozone depleting gas, and other
forms of  nitrogen pollution,  including
eutrophication of lakes and riwra and

contamination of river water.

Which one of the following statements best
reflects the most logical, rational and crucial
message implied by the passage ; 2

An enhanced efficiency of use ofmtrogen
is imperative for both food production

and environment.

Production  of nitrogen
fertilizers cannot be stopped as it will
adversely affect global food security.
Alternatives to crops that require excess
of nitrogen gshould be 1do¢ﬁﬁad and
cultivated.

Conventional agriculture
synthetic fertilizers should be replaced

with agroforestry, agroecosystems and

72.

(a)

(b) synthetic

(c)

using

(d)

Pas L
‘lifestyles, @a

Along with sustal 2 i
justice is regarded as : cant P w
environmental parlance. % the princiP 8 che
bearings on political and e pmic choices iy 3
nation. So far, in our climate uded
compacts, both the princip ) 2
consensus among nations. Just

sense, is well defined. HoWeVefr ‘ -
climate change, it has ientific

socio-political ofd;motatio i
in the next few years |

technologies amﬂﬂg‘ﬂlatlg

mate change. ¢ Ju8t1
ions relating to M
notion of s

‘the victims of { i
is not confined to ac
but includes thé
‘adaptation to ¢ i -'

for loss and dam. '

] 3 'J .l .} I
730‘ Whlch one J‘& fOHOWing ctAal
: reflects the most logical, ration
message conv@ned by the w

(a) Climate _}ustxgg she
detail in the .

compacts/agree:
¥ X
Environu& a
distributed -' '
globe. '

(b)

There is an

(e)

(d)

‘eountries and

ﬁ &rﬂen should

organic farming.

\l

TG-S-DNK

(41-8B)
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